RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Accepting Legislative Housing Committee's Resolution #2-828-87; regarding FY 1987-88 HIP Contract)

RES. NO. 308-87

	Market 1	레이크 15. (18 1일) - [기계 전 기계 전 기계 전 기계 개인 경기 시설 중에 42. (19 12. 19 12. 19 12. 19 12. (19 12. 19 12. 19 12. 19 12
1	WHEREAS,	the Legislative Council reviewed Res. No. $2-828-87$ pass by the Legis-
2		lative Housing Committee which supports the Housing Authority to
3	17.48	contract for funds available through the Bureau of Indian Affairs
4		
5		Housing Improvement Program (HIP) for FY '87; and
6	WHEREAS,	the Housing Committee's Resolution $#2-828-87$ also included ten (10)
7		recommendations for the Legislative Council to support. They
8		are:
9		1. Modify the Authority's resolution to include a provision under

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

29

30

31

32

- Modify the Authority's resolution to include a provision under "Be It Finally Resolved by the Tohono O'odham Legislative Council, that in addition to authority granted to the Housing Board Chairman, Vice Chairman and the Executive Director to negotiate, execute and amend any part of the contract, that all of the above-mentioned authority granted to officials of the O'odham Housing Authority, be done with the express knowledge of the Legislative Housing Committee and that all pertinent information be provided to the Committee in documented format as they occur within twenty-four (24) hours and addressed to Chairman of the Legislative Housing Committee.
- Inventory process numbered 1-8 either number 7, be changed to Legislative Housing Committee, in place of Tribe or add another line.
- Committee recommendation, to supplement from any funding source available, the Housing inventory budget to hire additional field workers.
- Certification of accounting procedures that meet accounting procedure standards not included. Committee recommends this information be provided.
- Property Management system and record keeping of the Authority not attached as specified under this provision. Committee recommends this information be provided.
- Advance payment request needs to be clarified in terms of payments to contractor for actual work completed and/or material purchase for this project.
- Committee recommends language to be inserted after the word is (upon contract award).
- Clarification needs to be made in terms of under, "What title is the contract to be entered into under Tohono O'odham Housing Authority or Papago Housing Authority."

RES. NO. 308-87 (Accepting Legislative Housing Committee's Resolution #2-828-87; regarding FY 1987-88 HIP Contract) Page Two (2) Committee recommends, that the construction schedule of thirty-three (33) days per unit be officially adopted. Committee recommends and supports the increase of salary for the HIP Coordinator/Supplemented from any source available. NOW, THEREFORE, BE IT RESOLVED by the Legislative Council to support and approve the intent of the Housing Committee Resolution #2-828-87. The foregoing resolution was passed by the Tohono O'odham Council on the 10th day of September, 1987, at a meeting at which a quorum was present with a vote of 1,640.0 for; -0 against; -0 not voting; and -0 absent, pursuant to the powers vested in the Council by Section 1 (d)(3) of Article VI of the Constitution of the Tohono O'odham Nation, adopted by the Tohono O'odham Nation on January 18, 1986, and approved by the Acting Deputy Assistant Secretary -Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June 18, 1934 (48 Stat. 984). TOHONO O'ODHAM LEGISLATIVE COUNCIL Harriet Toro, Legislative Chairperson day of October, 1987. ATTEST: Teresa M. Choyguha, Legislative Secretary toper, 1957.

1

2

3

4

5

6

7

9

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

29

30

31

32

Said Resolution was submitted for approval to the office of the Chairman of the Tohono O'odham Nation on the 22 day of 0ct, 1987, at 2:49o'clock, P.M., pursuant to the provisions of Section 5 of Article VII of the Constitution and will become effective upon his approval or upon his failure to either approve or disapprove it within 48 hours of submittal.

TOHONO O'ODHAM LEGISLATIVE COUNCIL

For Harriet Toro, Legislative Chairperson

	RES. NO. 308-87 (Accepting Legislative Housing Committee's Resolution #2-828-87; regarding FY 1987-88 HIP Contract) Page Three (3)
1	10 611
2	[$\sqrt{1}$ APPROVED) on the <u>28th</u> day of <u>October</u> , 19 <u>87</u> , at
3	[] DISAPPROVED) $8:00$ o'clock, A .M.
4	Enex 1. Thomise h-
5	ENOS J. FRANCISCO, JR., Chairman
6	TOHONO O'ODHAM NATION
7	Returned to Legislative Secretary on the 28th day of October,
8	19 87, at <u>8:49</u> o'clock, <u>A</u> .M.
9	13 8 7, at 0.77 0 clock, 74
10	1 mm
11	Teresa M. Choyguha
12	Legislative Secretary
13	
14	
15	
16	
17	
18	
19 20	
21	
22	
23	
24	
25	
26	
27	
28	
29	
30	

MOVED:	JOHN	RENO	
--------	------	------	--

SUBJECT: ACCEPTING LEGISLATIVE HOUSING COMMITTEE'S
RES, #2-828-87 REGARDING 1987-88 HOUSING
IMPROVEMENT CONTRACT

SECOND: MAX JOSE

DATE: SEPTEMBER 10, 1987

DISTRICTS	REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK	 Nicholas Jose (Letitia Garcia) 	69.0	X			
138.0	2. Willard Juan, Sr. (Melissa Gregorio)	69.0	Х			
SELLS	1. Andrew Patricio (Daniel Lopez)	128.5	Х			
257.0	2. Fred Stevens	128.5	X			
SCHUK TOAK	 Julia Carrillo (JoAnn Francisco) 	52.5	Х			
105.0	2. Joseph Juan (Frances Francisco)	52.5	Х			
SAN XAVIER	 Eugene Enis (Michael Rios) 	63.0	Х			
126.0	Tony Felix (Carmelita Mattias)	63.0	X			
BABOQUIVARI	1. Kenneth Chico, Sr.	120.5	Х			
241.0	2. Joann Garcia (Frances Miguel)	120.5	Х			
GU ACHI	1. Percy Lopez	79.0	Х			
158.0	2. Fernando Joaquin ()	79.0	Х			
PISINEMO	 Johnson Jose () 	58.0	χ .			
116.0	2. Edward Manuel (Alex Antone)	58.0	Х			
SAN LUCY	1. Max Jose (Dewey Ortega)	42.5	Х			
85.0	2. John Reno	42.5	Х			
GU VO	1. Virgil Lewis (Roy Montana)	58.5	Х			
117.0	2. Cross Antone (Juan Joe Cipriano)	58.5	Х			
HICKIWAN	 Henry Ramon (Billy Manuel) 	64.0	Х			
128.0	2. Lloyd Francisco (Eleanor Santos)	64.0	Х			
CHUKUT KUK	1. Rosita Ruiz (Rosemary Lopez)	84.5	X			
169.0	2. Harriet Toro ()	84.5	Х			
	TOTALS	1640.0	1,640.0	-0-	-0-	-0-